¢ 40 | 133HS

iDNINYVYMV

4/

DN

N N

— N Q

2z 3 o= |0 iga

zg ¢ —_ 22 10 oS W

2o 3 4 Co |[|© :WE
o> o m = 2] ™~

ool = w m "h

O = ﬁﬂ (- “2\

e« & Z =~ |= 8'&2

SR om o |m 5 0

= 3 To |Y ?hb
< O QS

= \ ) QAN

5 < :2

3 e

z 5'5

O 2

% 3

8

ANV NIYATIHD ONILNIAIYd HO4 AIANILNI LON 4V ANV 1Ivd a4vNS

AL34VS V LON 34V STIVH ANVH FHL'NOILD3S ¥D0d FHLNO SNIMTYM ITHM
ALITIEGVLS ONINIVLINIVIA NI 1SISSY OL AIANILNI 34V STIVH ANVH 3SIHL

"
1/

TIVIANVH TVSHIAINN Ho>0d 3074

777
N/ 7/ /& / i
i

wod” HU!GOH.'N\N\M

09455 NW "1oBaigdp
Aq painpoynubpyy

G9 "AMH B4DIS €/ 18Y
'Z)U| |OUOHDUJ9J,U| GOH

S1111.% SXJ304



HARDWARE KIT CONTAINS:

HANDRAIL SIZE__| HARDWARE KITS REQUIRED

4-0' HANDRAIL 2 (2) HHCS, 3/8-16 x 2 1/4'18-8 55
6-0' HANDRAIL 3 (2) HHCS, 3/8-16 x 3 3/4" 18-8 5
8-0' HANDRAIL 3 (4) FLATWASHER, 3/8" SAE SS 18-8
12'-0" HANDRAIL 4 (2) NUT, NYLOCK 3/8-16 ALUMINUM

(1) PLATE, DOCK ACCESSORY
(2) SPACER, DOCK ACCESSORY

STEPS (rOr FLOATING DOCKS)

1. Insert 3/8" x 2 1/4" bolts w/flatwashers into holes in nut
track on dock side frame. Insert enough for each
upright on handrail (2 per upright). Aligh the bolts with
lower two holes in handrail upright. See Fig. 1

2. Put a flatwasher and nylock nut on each bolt and finger
tighten. Slide handrail to desired location and torque

nuts to 30 ft/lbs.

\\|
/

//

[ LU L

STEPS (-0rrOLLIN DOCKS)

1. Insert 3/8" x 3 3/4" bolts into top and bottom holes in
handrail uprights. Set the handrail in position so bottom
bolts rest on the bottom frame rail of dock. It is
recommended that you clamp the handrail to dock for
easier installation. See Fig. 2.

Tz /I ____/
—Li

2. Slide (1) spacer block over each bolt. If the bolt is too
close to webbing do not add a spacer to that bolt, the
webbing will act as the spacer as shown in Fig. 2.

3. Slide the bracket plates over the bolts and fasten using a
lock washer and nut on each bolt. Torque to 30 ft/Ibs. Fig. 2

SHEET 2 OF 2



